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(i) 2a faavfm,
ROLL No.
(ii) fofia= weiw
LA—259 Write short notes on the following :
ANNUAL EXAMINATION, 2014 &) iandon Sunpiiog,
B.A. N o
ECONOMICS (i) Secondary Data.
Paper 11
[ Statistical Methods | §#E - 11 /| UNIT - I
Time : Three Hours ] [M.M.:75 y S —
iz . G o vl & IO AT §AE T @ UF T g ™wE =y |
F A § 17 v F siF auA £ What is mean ? Explain its merits and demerits.

Note : Amnempr all the five questions. One question from
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each unit is compulsory. All questions carry equal 37¢r&1 | Or
marks.
=1 smafa famwor & gure 7@ Fifoo—
F#E -1/ UNIT -1
aif amgfa
1. wifeas! %t afourm gifae am Tas sl & 9o Fifew) 0-5 1
Define statistics and explain its functions. 5-10 2
37¢ar [Or 10-15 10
15-20 4
frafafaa v Afara fzoi fafae —
PT.0 20-25 10
25-30 9

30-35

(]
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Calculate the median for the following frequency
distribution :

Class
0-5
5-10
10-15
15-20
20-25
25-30
30-35

gF7% - 111 / UNIT - 111

Frequency

3. wum fagen &1 20 314 ® ? 39F e # fag= wifan)

What is meant by standard deviation 7 Explain its
importance,

fa sffwel A = fogd= &1 faawan o= 9@ wifag—

LA—259

g
11-15
16-20
21-25
26-30
31-35

amgfe

20
10
6
15
19

P.T.Q.
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Calculate Karl Pearson’s coefficient of skewness from

the following data :

LA-—259

Age
11-15
16-20
21-25
26-30
31-35

Frequency

FFE - IV / UNIT - IV

4. dfd 3 =it = g F frofafes ad= 2 =56 froda &
TE-T* i [ FfoTg—

ufy &t g

23

Et w g
Ca 18
22
23

25
25
28
29
30
32
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[5] [6]
Calculate Karl Pearson’s coefficient of correlation HE -V /UNIT-V
between the ages of husbands and wives :
Husband’s Age Wife’s Age 5. frafafas wa# & snvm w oiw avfe Iwfs qea W@
| FIWY A9 47 ¥6F Td I 4eg #) 0 AT Oy
23 18 :
T —
27 22
ad faamt
28 23
1991 40
29 24
- 1992 42
30 25 =
= 1993 40
31 25 z
= 1994 44
33 28 =
B 1995 49
35 29 S
£ 1996
36 30 £ &
e 1997
39 12 & 42
g 1998 44
a7%ar | Or
) 1999 44
hmfafw 1 wfera fromit fafan— 2000 48
(i) Tewma 1 A fadran, 2001 4
(i) ¥T=a faWT | http://www.a2zsubjects.com 2002 48
Wr“ﬂe short notes on the following : 2003 i
(1) Main characteristics of correlation, o %

(1) Probable Error.
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Calculate Trend vaiue by five yearly moving averages
from the following data and plot the original data and
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2005

2010

(7]

trend on a graph paper.

LA — 259

Years
1991
1992
1993
1994
1995
1996
1997
1998
1999
2000

58
56
51
57
54

63

Sales
40
42
40
44
49
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2001
2002
2003
2004
2005
2006
2007
2008
2009
2010

37271 [ Or

frefafaa v dfea feooft fefag—
(i) aFiH @9 gy g,
(ii) wfid qasi* |

Write short notes on the following :

42
48
46

58
56
51
57
54
63

(i) Problems in the construction of Index Number,

(ii) Weighted Index Number.
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